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= H 181,158,875 153,373,095 27,785,780 18.12%
ALY 170,181,576 140,910,329 29,271,247 20.77%
nees 2,797,293 4,546,293 A1,749,000 | A38.47%
Y 2HAHHY 8,180,006 7,916,473 263,533 3.33%
a3 159,243,893 127,781,412 31,462,481 24.62%
ABtEE - B 158,234,893 126,758,412 31,476,481 24.83%
R 2L 46,900 52,100 5,200 N9.98%
%2 20| 2= ot UEI(FEIMESES 46,900 52,100 25,200 N9.98%
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MSETRIY 22 50,907,384 56,864,003 A5,956,619|  A10.48%
MEE QTS L SEBAHASTBIIASY 37,145,249 36,250,749 894,500 2.47%
3
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313)
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A - ZAI L LXK 1,731,275 5,746,525 A4,015,250 | ~69.87%
A - EAD B 1,731,275 5,746,525 A4,015,250 | ~69.87%
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